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S Al 540,855,469 | 100.00% 531,763,257 | 100.00% 9,092,212 1.71%
BHS| Al 529,387,380 | 97.88% 520,360,972 | 97.86% 9,026,408 1.73%
SE3 A 11,468,089 2.12% 11,402,285 2.14% 65,804 0.58%
JIEtSE 3 A 11,468,089 2.12% 11,402,285 2.14% 65,804 0.58%
IESHMASE A 1,191,461 0.22% 1,155,998 0.22% 35,463 3.07%
SSAHFHSEE 3 1,303, 162 0.24% 1,303, 162 0.25% 0 0.00%
ASUESEI 255,600 0.05% 255,600 0.05% 0 0.00%
S3SANATHdL2ACUSES 467,795 0.09% 467,795 0.09% 0 0.00%
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FAE2SSEA 140,720 0.03% 140,720 0.03% 0 0.00%
SSHOE2EX 2CSE 89,815 0.02% 89,815 0.02% 0 0.00%
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SHEXNFEEHCIAMSSE 71,410 0.01% 71,410 0.01% 0 0.00%
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CEHYSEIA 2,094,151 0.39% 2,094,151 0.39% 0 0.00%
FUALASTAIISELSA 1,334,288 0.25% 1,334,288 0.25% 0 0.00%
S AMBSEA 4,519,687 0.84% 4,489,346 0.84% 30,341 0.68%




